
2025501 OT5033

OR

Derive the formula for calculating machining

time for shaping operation.
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Full Marks : 80

Pass Marks : 26

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Five questions from Group B, each question 

carries 4  marks.

Answer all Five questions from Group C, each question 

carries 8  marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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(a) Lap joint

(b) Butt joint

(c) Strap joint

speed depends.

OR

11.
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1. Choose the most suitable answer from the following

options :1x20=20

(ii)

(i)

(i)        

OT5033

The expenditure incurred on the repair and 

maintenance of the machines in the factory 

is part of...........

(a) Variable overhead

(b) Production cost

(c) Selling cost

(d) None of these

The ratio of output to input is known as:

(a) Productivity

(b) Profitability

(c) Production margin

(d) None of the above
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methods.

(a) Unit time

(b) Cycle time end

(c) Total time in the estimation of machining

      time with suitable examples.

f58

60mm 80mm

f54
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(iii)

(iii)

(iv)

(ii)

Production control consists of:

(a) Routing and scheduling

(b) Dispatching

(c) Follow up

(d) All of the above

Essentials of planning involve:

(a)  What work should be done

(b)  Where the work should be done

(c)  How the work should be done

(d)  All of the above

OT5033
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Write short notes on:

(a) Routing

(b) Scheduling

(c) Dispatching

(d) Follow up

the dimensions is as shown in figure-I. Given that 

cutting speed is 20m/min, feed is 1.2 mm/rev and

depth of cut is 2mm.

Fig - 01

f58

60mm80mm

f54

9.

8
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(v)

(v)

(vi)

(iv)

Which of the following is not a purpose of 
long-term forecasting?:
(a) To plan for the new unit of Production
(b) To plan the long term financial 
      requirement
(c) To make proper arrangement for the
      training of personnel
(d) To decide the purchase programme

The technique by which the relative worth of 
employee is made is termed as:
(a) Job enlargement
(b) Job evaluation
(c) Both (a) and (b)
(d) None of these

OT5033
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A firm is producing 100 items per day. It was found

that direct material cost, direct labour cost and 

factory overheads are Rs. 80, Rs. 220, and Rs. 300

respectively. If selling overhead is 30% of factory 

cost what must be the selling price of each item to

realize a profit of 10%.

after three years, when the cost of machine is 

Rs. 8000 and Scrap value is Rs. 4000. Rate of 

interest is 5%.

OR

8.

8
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Time study uses:

(a) Stop watch

(b) Motion picture camera

(c) Both (a) and (b)

(d) None of the above

What does symblol 'D' imply in work study?

(a) Inspection

(b) Operation

(c) Delay

(d) Storage

(vii)

(vii)

(viii)

(vi)

OT5033
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Answer all Five Questions. 

Write down the different types  of production and

their relative advantages and disadvantages.

8

8 x 5 = 40

7.

6 25501

Which of the following is cause of 

deprecation?

(a) Wear and tear during operation

(b) Physical decay

(c) Accidents

(d) All of the above

Variable overheads include:

(a) Power and fuel consumed

(b) Repair and maintenance

(c) Deprecation due to consumable tools

(d) All of the above

(ix)

(ix)

(x)

(viii)

OT5033
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What are the different  sales forecasting techniques?

operation?

Describe in brief. drop forging.

concept.

Describe in brief  the duties of sales engineer.

OR

4

4

5.

6.
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The layout suitable for high demand and low

variety product is:

(a) Product layout

(b) Process layout

(c) Combination layout

(d) Fixed -position layout

Keyway in a shaft may be cut with the help

of:

(a) Lathe

(b) Milling

(c) Both (a) and (b)

(d) None of the above

(xi)

(xi)

(xii)

(x)

OT5033
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Name various elements which contribute towards

total cost of any product. Explain any one of them.

What are the causes of depreciation? Explain in

brief any one of them.

production.

industry.

4                     

3.
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The gas used in gas welding is ................

(a) Ethylene

(b) Acetylene

(c) Methane

(d) Ethane

Which one is stronger joint?

(a) Lap joint

(b) T-joint

(c) Corner joint

(d) Strap joint

(xiii)

(xiii)

(xiv)

(xii)

OT5033
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Answer all Five Questions. 

2.

4

4 x 5 = 20

Differentiate between production and productivity.

(xx)

OT5033 9 25501
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During upsetting:

(a) Length of the workpiece increase

(b) Cross-section of the workpiece increase

(c) Length and cross section both increase

(d) All of the above

Shapers and planners are:

(a) Reciprocating machine

(b) Rotory machine

(c) Both (a) and (b)

(d) None of these

(xv)

(xv)

(xvi)

(xiv)

OT5033
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(xviii)

(xix)

(xx)

(xix)

 

 

  

       Total table travel
Speed in rpm x feed/rev.

                  Feed/rev
Total tabel travel x speed in Rpm

                  Rpm
   Feed/rev  x Total tabel travel  

OT5033

Unit of feed is :
(a) mm/rev
(b) mm/sec
(c) mm
(d) None of these

In fusion welding process, the material at
joint is heated to a molten state allowed to
solidify..........
(a) Under pressure
(b) Without application of pressure
(c) Both (a) and (b)
(d) None of these

10 25501

(xvii)

(xvii)

(xviii)

(xvi)

(a)

 

(b) 

(c)

  

(d) None of the above 

       Total table travel
Speed in rpm x feed/rev.

                  Feed/rev
Total tabel travel x speed in Rpm

                  Rpm
   Feed/rev  x Total tabel travel  

OT5033

Selling price is equal to:

(a) Total cost + profit

(b) Total cost - profit

(c) Total cost

(d) None of these

Correct expression for milling time is:
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